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HISTORY

( Honours Core )
Paper : HIS-HC-5016

[ History of Modern Europe—I (1780-1939) ]

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions in 1 word or
in 1 sentence each : 1x10=10

oo Al oPAR] ofSo T Wir = I by AT
- fawr

(a) Who was appointed as Finance Minister
of France after Necker?

T ime T Rendl ot v AR faan
e 7
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(b)

(c)

(d)

(e)

(g

24A/148

(2)

Who wrote—“Man was born free, but is
everywhere in chains”?

@A fffea— Tl o (3fed {eew, 93
IS TG (R SR ?

Who was Villéle?
fSrea W wifRs 2

Who presided over the Congress of
Vienna?

S TR YT (A FRBHA 2

Who was the Emperor of France during
the February Revolution?

FFAR Reg3 e FPR 0 @ =fRe 2

Who invented the flying shuttle’?
‘Flying shuttle’ (I TR 1= 2

Who was Sir Hiram Maxim?

PR 2N RN @ WIRE ?
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(3)

(h) What was baronet?
Baronet & sfRe 2

(i What does the word ‘capitalist
industrialization’ mean?

‘“AfeeifS TrmAea” A & =02

() What was mezzadria?

Mezzadria & =f&s 2

2. Answer the following questions briefly : 2x5=10
TS WAl 2P S el f

(a) What was Bastille’ and when did it fall?
‘@fEe’ & wifee s N oo e 3fze 2

(b) What was the ‘Thermidorian
Revolution™

‘if¥ceifam [ReR’ & wifRet 2

(c) State two principles adopted by the
Vienna Congress. '

S =S RS @A 761 NS =7 1
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(4)

(d) Who established the Bank of England’
and when?

QRE 9F QW ‘QE SR O3gEe’ Afew
FfefRa 2

(e) Mention two social layers of the
bourgeoisie class.

JCETT AR Y51 A T TeeEy F40 |

3. Write short notes on any four of the
following : Sx4=20

oo fraaee R e w1t Recw v G o

(a) Montesquieu
q E

(bp) Women’s Campaign of Versailles
NECIERS LRSI

(c) Holly Alliance
i3 AW

(d) British Agricultural Revolution

3foe 3 R
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(S)

(e) Proletariat

NG 7RG @

(/.  Labour Movement of the 19th Century
vy PR =i e

4. Answer any four of the following questions :
10x4=40

G} PR R @1 vilRerR T o
(a) Describe how revolutionary ideas of the

French Revolution gave birth to the
concept of gender equality.

w5l fRgRs hﬁﬁﬁwmﬁww
YRR o fafee, e faan |

(b) Give an account of the ‘Continental
System’ of Napoleon.

I’ ‘TR m.’a 3w 39 91

(c) Evaluate the Concert of Europe. Why
did it fail?

@A S F ke, yeome a1 ] W
fFs1 27412
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(6)

(d) Discuss the causes of the February
Revolution of 1848.

Sr8b 5H (PN R IRPR ScaAm
0

(e) What kind of transformation was
brought into the social life and
agricultural sector of Europe due to
industrialization and rise of capitalist
economy? What were the results of this
transformation?

TN WF G YA TSR] -
A W PRIGS (TP “RTST wffRed 2
93 RIS Forwa & onfee 2

(/ Explain the demographic trend of
Europe during the late 18th Century.

o MfSIR T T RS@AY G 41
Seorgd e’

(g) Write an essay on Balkan Nationalism
and its results.

T FOMORM HF [WR TG 8°R[RO Y
54 fora o
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(7))

(h) Give a description of the economic
development of Germany after its
Unification in 1871.

Srad b0 AR YFaRdl free @
HAfST Ty @ {999 |

* % %
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